4. 4 3)2 7 [0,1]0M ulz,t+k)7b ulz,t)te 25 =S EOEL AYHE2 Ol # 20

. a=[l42kh2(costh — 1)]/k

[,

6. LEZ2 (5)2 Mol Qs 2F b2 KM b, +¢, 2 HHRCE 2t b, +c,2 b, S CHLBHCEL

7. ©)0IM, 0,2 b, +gt)E, b, 2 b, +gt)2 HME[D, 0 =T 1 <i<n—1¥ I b, = f(ih)
k
8 ulx,t+k = h_2(1 —hulx +h,t)
+k<h2+h 2) ot) + Sux — hot)
— | — — u(x, —u(x —n,
h? \ k h?
P -
-1 0 1
-1 0 1
- _2 2_




122 ASE2X|

1. —-0.21

2. uye = f"(x+at)+ g’ (x —at),
up = a’ f""(x +at) +a*g" (x —at) = a’uyy

1
3. u(x,t) = E[F(x—l—t) — F(—x+1)]

1 — _
+3 [Gx+1) — G(—x +1)]
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122 AHEH AS=H

1. real function fbar(x)
real x, xbar
xbar < x + 2 real(integer(—(1 + x)/2))
if xbar < 0 then
fbar < — f(—xbar)
else
fbar < f(xbar)
end if
end function fbar
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